B SN Z SOHAMY A2 [E2] A31=2MA] OHY 2023.3.17.)
J1OIEHO| A =2 &=0| Al
re 3 =0| al
SAYR ZLUMF S SA_LEMY
X FRQ 2AYYS AL 28t FA7] B
. = (F1%)
¥ [Jol= Y= =0 v EE BU
1. 7|=A1e
AtHAAE(TMZ|2h): 202401201 ~ 2024412831 W] ™T|ZA| [ ] slaZA|
o S AEAS ;i
Dagols o AtCHH Ol CH S22 | E|of 201 Y @ fié%"i) 209-82-047 x*
QCHEZ} O %k OFENE-P] 198005207
Z71 oFFA SotT o2 = 92 SIS —3769-
©2244] A E S 0% 125 | ©UStHS /A OroToreeToEe
@OEL|0|R] A www.kof.or.kr @A EA kof1 @kof.or.kr
@z=2A ar|s 07|52 /4 [ 152717= V128185 [ 171Et
M2l ot
== . =] ==
0287 [Imekgel [VIAtehdel [ Jgelom B el [ 133712 [ 1718
@3oMRE  |u=
@EEFA WIZHel [ 1214 [ oHel-21ed [ 1524 [ IRIRbR et [ 1716
®OlAf 159 [GRIIZ AR SHolgl 4 0 o
DR I
2 AR o A (EFl: 20)
= @@ AHLEA = Al Ol H32
T EAEEA L gex nag | UAY ez | s | O
ST
@ 24 (@=0+0©) 8,690,216 0 0 0 8,690,216 0 0
© 2UZ A 8,690,216 0 0 0 8,690,216 0 0
© 7|EIAS 0 0 0 0 0 0 0
3. +olgg (Bt 2)
oA AQ]
) N e DA QA BINRFEA
28 sz2H [ o N S WISESE
QaA | @723 | ¥z |03H$ | GI|E = 5ol ol
@ 24 (=0+0©) 100,120,572 | 100,110,300 11,050,000 43,389,300 13,900,000 31,771,000 10,272 0
O3U=2AHAIY 100,110,300 | 100,110,300 11,050,000 43,389,300 13,900,000 31,771,000 0 0
©7|EA S 10,272 0 0 10,272 0
4. H| g (EH: &)
GAIRAHIE DAL | @1Q=H
= @& A ALY Gyt ®IZ HE S |AlREHE
= Iy 7|E
WA | sumiz | ez | Hig S I S
@ 24 (@=0+0) 98,611,392 [ 98,611,392 85,927,652 12,683,740 0 0 0 0
O3USAAY 98,611,392 | 98,611,392 85,927,652 12,683,740 0 0 0
© 7IEAY 0 0 0 0 0
5. MSAl At
6. &rolzt
=2 2 ZAM et ZiMoll HEE BM R 2EIMSS AESICH, siSYEE Tdst 44 shil HY3IE
= =felgidct.
HEXL: o[BHY Eoled Xt 2025032062
Ml 5 S0iMH ) M50z=2l3R1e - M4gh 3 22 & Al E 432|301 w2t Sy el S
ZUMF 58 SAlsct
2025 4 03 & 06 &
Held Afchel thstee(AdEojE
210mmx297mm 84 X| 80g/m* == SEX| 80g/m*]



(M5%)

6. ZAFEAY MFEE

OF 2ol 7|2 = SAFTHAA g

1. 22(E0Yel B3, XY U F4

2. Ff 22|AEl0fFY 27| FA S My RH MY, thal HE 2 STtz
3. A5l 22/El0fZ 27| thel 2 sl Sof YD M5 S T L 2l

4. M5, XIEXRFS N U K2 OIF 52, H7| 7|a 9T, 7|2 ey BY
. me

6

7

8

)
J2Z=(2E21200) [ ]7IEF &l F2[of[o]M 2 S A} S8 (Z=1300)
2

[1Z5E 2 £S5 WK(ZE2100) [ |[TEWS(ZE2200) [ ]7|EMRS(Z E2300) [ [EH&9 (2 £2400)
[ 122 E2500) [ ] FotE (2 =2600)
[ @ 2 HEAM(ZE3100) [ |22(ZE3200) [ 1M4 A2 & 27170 (2 =3300) [ ]7]EF EAME|A(ZE

[ TAFBI 2R (ZE4100) [ [Z2AR 2 25 (224200 [ |25 X9 2 & =(2=4300)

H(Z=6200) [ 118 2 =H(Z=6300)
]

Alol 2 2SCh| (B E71 ol [ 1A x| (Z=7300)
2 (X 2) EHZ=8100) [ |2AIEZI(2=8200) [ |22 &5 (2 =8300)

[ JLECHS [ ]7]Et

@ T2 AFERIY
WIZZ [ M [ 1R[]l [ oA [ 15 [T [ 124 [ 129 [

(B[ 1Z=S[]1sE [ 155 [ 18E [ B[ MS [ M= 164 sis

® =2 72 A
[ 1MMIA (VIR VoMot [ 1=otmalzt [ Jot=alzt [ |24lotof [ ]itotm 2l

| — = H= =2 71

1 C 1200 AP [EES=INtey Al 4=5HH| 2 43,389,300
NS A = TS e = A AT X T REE I E

ArELHE ] R AFQIZ| e
SR M| T= AAAY S

2 = 1200 AP M4 ALY At ~3H| 2 20,523,493
MA =AU 2] TfAH, OrA[OMd =M Che] THA, MA[Zof el T2

AeUS NERE 3
=247/2d

3 A= 1200 AL H Chal 2 H AL At RH|E 8,571,380
E S EME[GTHTHS] A FZul A=ZTS[, AR XA,

ArEHE NERE 2=
7|EtSHAL S




orl | of!
o | N
~ [ in
< | ©
D~
3|5
[N )
— | o0

=

ol
040 | 0f0
oD
60 | T
<F | <F
3D | 3D
< | =<
SNBS
o3 Vo]

oI

Mﬂ

_A
&1 | ofr
< |or
of | Mo
M| Ko

=
< | oI

Bl

X0
I

SEAL Al

6. 3%

AL X @st=

=5

&t ol vy

ujr

Lt "@AKEH

Lot Ab

I

— = =
ITE S
= =

(2E=8300)"dl

=

Fxlofl X|

el

5

sol 53

=
AU 2 54327t 7t

"B =2 (K|

D HEtO[H A ALE[ =X

L ehodl

ShH
=

=
S

ol
T

Ct @F& G7HX| [ ol

"ol

o
=

AIEXY) g HEHCTHL 2EE "@A

=3

=
=

o}, ®zte] A

x| 80g/m]

= =Xl
- o=

C

210mm X 297mm[ 24 AX| 80g/m* &



